
=DáąF]QLN�1U��

*PLQD�-DQLNRZR

3/$1�:<'$7.Ï:�=:,Ą=$1<&+�=�5($/,=$&-Ą�352*5$08�352),/$.7<.,�,�52=:,Ą=<:$1,$�352%/(0Ï:

$/.2+2/2:<&+�25$=�352*5$08�35=(&,:'=,$à$1,$�1$5.20$1,,

=PLDQ\�EXGĪHWRZH�1U���

6HVMD�5DG\�0LHMVNLHM�Z�-DQLNRZLH

]�GQLD����OLVWRSDGD������URNX

3ODQ�SU]HG�]PLDQDPL =ZLĊNV]HQLH =PQLHMV]HQLH 3ODQ�SR�]PLDQDFK

:\GDWNL�UD]HP ���������� �������� �������� ����������
']LDá���� 2FKURQD�]GURZLD ���������� �������� �������� ����������

5R]G]������ 3U]HFLZG]LDáDQLH�DONRKROL]PRZL ���������� �������� �������� ����������
������ =DNXS�PDWHULDáyZ�L�Z\SRVDĪHQLD ��������� ���� �������� ���������
������ =DNXS�XVáXJ�SR]RVWDá\FK ��������� �������� ���� ���������

'(/),1�V�F��WHO������������� �


